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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-6_0
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P3-6
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P3-6

BfiE) | BRI (D) | EE (EH/AR) | XK R

05:50 278 150.0 = {RRiB005:50 B (RFAEEE)
06:15 278 150.0 & =| 1Ri%e06:15 Bz (kAEREEE)
06:40 278 150.0 & =| 1Ri%@06:40 Bz (KRABEREEE)
08:20 278 150.0 (& =| 1BRi8008:20 Bzh (KREAEREE)
10:20 278 150.0 PA| {Ri%@10:20 Bz CGRAFER)
12:05 278 150.0 FA| 1BRi%@12:05 B3h (RABERESE)
13:35 278 150.0 FA| 1BRi%@13:35 B3h (KRAERSE)
15:25 278 150.0 FA| 1Bi&0@15:25 B3 (RAEREE)
2it]2224.0 (8%) 1200. 0 3203 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (378:150.0), set to 378 ml.
FEEIKRECE (2040. 0 vs 4110.0)53 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=54 (2025-05-22)
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100 A
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Warning: lcol [FVI',| "FVO’'] missing

50 4

400
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400
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400
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1.0

n
Warning: lcol ["WC1',  "WC2'] missing
TargetEC=2600. 0,  TargetSetEC=2080. 0 t
Warning: lcol ['ECB’,| 'ECC’'] missing
TargetPH=6. 5, TargetSetPH=5.6 N
Warning: lcol ['PHB’,| 'PHC’'] missing
1
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[ ] | _obs

400 - —8— PPFD_obs
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cumET (ml/plant)

cumET (ml/plant)
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m=440, FV0=0 m=465, FV0=0 m=535, FV0=0
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—— ME 26.4 1 —o— ME 26.4 1 —o— ME
26.0 26. 3
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25 5 _ 26 2 N
26. 2
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26. 1
26.0
—o— M| 26. 0 25.9 A
T T T T T T T T T T T T T T
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26. 40 o ME 26. 30 o M E 26. 30 o M E 26. 3 o M E
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T T T T T T T T T T T T
595 600 605 650 655 660 690 695 700 745 750 755
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26.0 ]
47 0 - 48.2
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47.6 -
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48. 8 4
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535 540 545 595 600 605 650 655 660 690 695 700
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P3-6

BfiE) | GEBIETIC (F) | EHME (BEAH/K) | XK R

06:45 278 150.0 FH| 1BRi&@06:45 Bzh (GRAEREE)
07:10 278 150.0 (Z=| {Ri%@07:10 Bz (REAHERESR)
08:40 278 150.0 (% =| 1BRi&e08:40 Bzh (REERESE)
09:50 278 150.0 [Z=| {Ri%@09:50 Bz (RAEESE)
10:40 278 150.0 (Z=| {Ri%10:40 BE1 (REHERESE)
11:25 278 150.0 & =| 1Rige11:25 Bzh (RAHERESE)
12:05 278 150.0 | =| 1Ri%e12:05 Bz (kAEREEE)
12:45 278 150.0 (Z=| {Ri&e12:45 B (REAHFESE)
13:20 278 150.0 5| {Ri%e13:20 B3 (RAERSE)
13:55 278 150.0 = RRiB013:55 B (RFAEESE)
14:35 278 150. 0 E BRige14:35 Bz (GRAERESE)
15:20 278 150. 0 El BRi&e15:20 Bz GRAEREE)
16:10 278 150.0 =l RRiB016:10 Bz (RFAKEESE)
23t 3614.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.8

#HEKRECE (2163.0 vs 4570.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=53 (2025-05-21)

e e e e ey e e Epees e e Eo——— bp——— ——— 3000
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2506
_ F 2000
100 1611 614
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0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
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0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-6

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

06:50 278 150.0 B {Ri%@06:50 Bz (KRAMERSE)
07:15 278 150.0 (& =| 1Bige07:15 Bzh (REEREE)
08:55 278 150.0 E  1BRi&e08:55 Bzl (RFAEREEE)
09:50 278 150.0 5 {Ri%@09:50 B3 (KRFAERSE)
10:40 278 150.0 El BRi&010:40 Bz CGRAEREE)
11:25 278 150.0 =l {Rige11:25 B3 (RAERSE)
12:10 278 150.0 El BRige12:10 Bz CGRAERESE)
12:50 278 150. 0 E| {Rig012:50 B3h (RE{ERSE)
13:25 278 150.0 F BRige13:25 Ba1 CGRAERSE)
14:05 278 150.0 [Z=| {Ri&e14:05 Bz (REAEESE)
15:35 278 150.0 |Z=| 1BRige15:35 Bzh (REERESE)
17:00 278 150.0 (Z=| 1BRi&e17:00 Bzh (REERESE)
24t 3336.0 (12)%) 1800. 0 3ZHKEC: 2080.0, PH: 5.9

FEREIEC (2410.0) HigZFEEC (2000.0) REK KX, HHRE

#[EKECE (2410.0 vs 4963.0) 15




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=52 (2025-05-20)

R S e i e e
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Warning: lcol ['PHB’,| 'PHC’'] missing
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m=430, FV0=0 m=510, FV0=0 m=575, FV0=0
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